

# The Rotation Number for the Generalized Kronig–Penney Hamiltonians

Hiroaki Niikuni

**Abstract.** We discuss the one-dimensional Schrödinger operator with generalized point interaction on a lattice. We give a characterization of the band edges of its spectrum by the rotation number.

## 1. Introduction and main result

In this paper we study the one-dimensional Schrödinger operators with generalized point interactions on a lattice. Our purpose is to give a characterization of the band edges of its spectrum by the rotation number. To describe our main theorem, we introduce notations. We fix  $n \in \mathbb{N} = \{1, 2, 3, \dots\}$ . Let  $0 = \kappa_1 < \kappa_2 < \dots < \kappa_{n+1} = 2\pi$  be a partition of the interval  $(0, 2\pi)$ . We put  $\Gamma_j = \{\kappa_j\} + 2\pi\mathbb{Z}$  for  $j = 1, 2, \dots, n$ , and  $\Gamma = \Gamma_1 \cup \Gamma_2 \cup \dots \cup \Gamma_n$ . We now introduce the special linear group

$$SL_2(\mathbb{R}) = \left\{ \begin{pmatrix} a & b \\ c & d \end{pmatrix} \middle| a, b, c, d \in \mathbb{R}, \quad ad - bc = 1 \right\}.$$

We further introduce the Sobolev space

$$H^2(I) = \{y(x) \in L^2(I) \mid y'(x), y''(x) \in L^2(I)\},$$

where the symbol  $'$  stands for the differentiation with respect to  $x$ , and  $I \subset \mathbb{R}$  is an open set. For  $\{\theta_j\}_{j=1}^n \subset \mathbb{R}$  and  $\{A_j\}_{j=1}^n \subset SL_2(\mathbb{R})$ , we define the one-dimensional Schrödinger operator  $H = H(\theta_1, \theta_2, \dots, \theta_n, A_1, A_2, \dots, A_n)$  in  $L^2(\mathbb{R})$  as follows.

$$(Hy)(x) = -y''(x), \quad x \in \mathbb{R} \setminus \Gamma, \tag{1.1}$$

$$\text{Dom}(H) = \left\{ y \in H^2(\mathbb{R} \setminus \Gamma) \middle| \begin{pmatrix} y(x+0) \\ y'(x+0) \end{pmatrix} = e^{i\theta_j} A_j \begin{pmatrix} y(x-0) \\ y'(x-0) \end{pmatrix} \right. \\ \left. \text{for } x \in \Gamma_j, \quad j = 1, 2, \dots, n \right\}. \tag{1.2}$$

The operator  $H$  is self-adjoint. The proof of this fact is similar to [14, Proposition 2.1].

Now we describe the band structure of the spectrum of  $H$ . Since  $H$  has  $2\pi$ -periodic point interactions, we can make use of a direct integral decomposition for  $H$  (see [16, Section XIII.16]). For  $\mu \in \mathbb{R}$ , we define the Hilbert space

$$\mathcal{H}_\mu = \{u \in L^2_{\text{loc}}(\mathbb{R}) \mid u(x + 2\pi) = e^{i\mu}u(x) \text{ a.e. } x \in \mathbb{R}\}$$

equipped with the inner product

$$\langle u, v \rangle_{\mathcal{H}_\mu} = \int_0^{2\pi} u(x)\overline{v(x)}dx, \quad u, v \in \mathcal{H}_\mu.$$

We define a fiber operator  $H_\mu = H_\mu(\theta_1, \dots, \theta_n, A_1, \dots, A_n)$  in  $\mathcal{H}_\mu$  as

$$(H_\mu y)(x) = -y''(x), \quad x \in \mathbb{R} \setminus \Gamma,$$

$$\text{Dom}(H_\mu) = \left\{ y \in \mathcal{H}_\mu \left| \begin{array}{l} y \in H^2((0, 2\pi) \setminus \{\kappa_2, \dots, \kappa_n\}), \\ \begin{pmatrix} y(x+0) \\ y'(x+0) \end{pmatrix} = e^{i\theta_j} A_j \begin{pmatrix} y(x-0) \\ y'(x-0) \end{pmatrix} \\ \text{for } x \in \Gamma_j, \quad j = 1, 2, \dots, n \end{array} \right. \right\}.$$

On the other hand, we define a unitary operator

$$\mathcal{U} : L^2(\mathbb{R}) \rightarrow \int_0^{2\pi} \oplus \mathcal{H}_\mu d\mu$$

as

$$(\mathcal{U}u)(x, \mu) = \frac{1}{\sqrt{2\pi}} \sum_{l=-\infty}^{\infty} e^{il\mu}u(x - 2l\pi).$$

Then we have the direct integral representation of  $H$ :

$$\mathcal{U}H\mathcal{U}^{-1} = \int_0^{2\pi} \oplus H_\mu d\mu.$$

Let  $\lambda_j(\mu)$  stand for the  $j$ th eigenvalue of  $H_\mu$  counted with multiplicity for  $j \in \mathbb{N}$ . For each  $j = 1, 2, \dots, n$ , we write

$$A_j = \begin{pmatrix} a_j & b_j \\ c_j & d_j \end{pmatrix}.$$

Since  $A_j \in SL_2(\mathbb{R})$ , we have  $a_j + d_j \neq 0$  if  $b_j = 0$ . Let

$$S = \{1 \leq k \leq n \mid b_k \neq 0\},$$

$$T = \{1 \leq k \leq n \mid b_k = 0\},$$

and

$$\xi = \prod_{j \in S} b_j \prod_{k \in T} (a_k + d_k),$$

where  $\prod_{j \in S} b_j := 1$  if  $S = \emptyset$ , while  $\prod_{k \in T} (a_k + d_k) := 1$  if  $T = \emptyset$ . We note that  $\xi \neq 0$ .

The fundamental properties of  $\sigma(H)$ , the spectrum of  $H$ , are summarized in the following way.

- Proposition 1.1.** (a) *The function  $\lambda_j(\cdot)$  is continuous on  $[0, 2\pi]$ .*  
 (b) *It holds that  $\lambda_j(\mu) = \lambda_j(-\mu + 2\theta_1 + \dots + 2\theta_n)$ .*  
 (c) *If  $\mu - (\theta_1 + \dots + \theta_n) \notin \pi\mathbb{Z}$ , then every eigenvalue of  $H_\mu$  is simple.*  
 (d) *The spectrum of  $H(\theta_1, \dots, \theta_n, A_1, \dots, A_n)$  is given by*

$$\begin{aligned} & \sigma(H(\theta_1, \dots, \theta_n, A_1, \dots, A_n)) \\ &= \bigcup_{\mu \in [\theta_1 + \dots + \theta_n, \theta_1 + \dots + \theta_n + \pi]} \sigma(H_\mu(\theta_1, \dots, \theta_n, A_1, \dots, A_n)) \\ &= \bigcup_{j=1}^{\infty} \lambda_j([\theta_1 + \dots + \theta_n, \theta_1 + \dots + \theta_n + \pi]) \\ &= \bigcup_{j=1}^{\infty} \bigcup_{\mu \in [\theta_1 + \dots + \theta_n, \theta_1 + \dots + \theta_n + \pi]} \{\lambda_j(\mu)\} \end{aligned}$$

- (e) *The set  $\sigma(H(\theta_1, \dots, \theta_n, A_1, \dots, A_n))$  is independent of  $\{\theta_j\}_{j=1}^n$ .*  
 (f) *If  $\xi > 0$  and  $\theta_1 = \theta_2 = \dots = \theta_n = 0$ , then the function  $\lambda_j(\cdot)$  is strictly monotone increasing (respectively, decreasing) function on  $[0, \pi]$  for odd (respectively, even)  $j$ .*  
 (g) *If  $\xi < 0$  and  $\theta_1 = \theta_2 = \dots = \theta_n = 0$ , then the function  $\lambda_j(\cdot)$  is strictly monotone increasing (respectively, decreasing) function on  $[0, \pi]$  for even (respectively, odd)  $j$ .*

We show this proposition in Section 2. Here we define the spectral gaps of  $H$ . Thanks to Proposition 1.1 (e), we may suppose that

$$\theta_1 = \theta_2 = \dots = \theta_n = 0,$$

which does not cause any loss of generality. We define

$$G_j = \begin{cases} (\lambda_j(\pi), \lambda_{j+1}(\pi)) & \text{for } j \text{ odd,} \\ (\lambda_j(0), \lambda_{j+1}(0)) & \text{for } j \text{ even} \end{cases}$$

in the case where  $\xi > 0$ , while we put

$$G_j = \begin{cases} (\lambda_j(\pi), \lambda_{j+1}(\pi)) & \text{for } j \text{ even,} \\ (\lambda_j(0), \lambda_{j+1}(0)) & \text{for } j \text{ odd} \end{cases}$$

if  $\xi < 0$ . The open interval  $G_j$  is called the  $j$ th gap of the spectrum of  $H$ . Furthermore, we put  $B_j = \lambda_j([0, \pi])$ . Then, we refer to the closed interval  $B_j$  as the  $j$ th band of the spectrum of  $H$ .

Next we introduce the rotation number. For this purpose, we consider the Schrödinger equation

$$-y''(x, \lambda) = \lambda y(x, \lambda), \quad x \in \mathbb{R} \setminus \Gamma, \tag{1.3}$$

$$\begin{pmatrix} y(x+0, \lambda) \\ y'(x+0, \lambda) \end{pmatrix} = A_j \begin{pmatrix} y(x-0, \lambda) \\ y'(x-0, \lambda) \end{pmatrix}, \quad x \in \Gamma_j, \quad j = 1, 2, \dots, n, \tag{1.4}$$

where  $\lambda$  is a real parameter. We define the Prüfer transform of a nontrivial solution  $y(x, \lambda)$  to (1.3) and (1.4) as follows. Let  $(r, \omega)$  be the polar coordinates of  $(y, y')$ :

$$y = r \sin \omega, \quad y' = r \cos \omega.$$

Then we call the function  $\omega = \omega(x, \lambda)$  the Prüfer transform of  $y(x, \lambda)$ . The boundary condition (1.4) reduces to

$$\begin{aligned} r(x+0, \lambda) \sin \omega(x+0, \lambda) &= r(x-0, \lambda) (a_j \sin \omega(x-0, \lambda) + b_j \cos \omega(x-0, \lambda)), \\ r(x+0, \lambda) \cos \omega(x+0, \lambda) &= r(x-0, \lambda) (c_j \sin \omega(x-0, \lambda) + d_j \cos \omega(x-0, \lambda)) \end{aligned}$$

for  $x \in \Gamma_j$  and  $j = 1, 2, \dots, n$ . Since  $y$  is a nontrivial solution of (1.3) and (1.4), we have  $r(x+0, \lambda) > 0$  and  $r(x-0, \lambda) > 0$  for  $x \in \Gamma$ . Therefore  $\omega(x, \lambda)$  satisfies the equation

$$\omega'(x, \lambda) = \cos^2 \omega(x, \lambda) + \lambda \sin^2 \omega(x, \lambda), \quad x \in \mathbb{R} \setminus \Gamma \tag{1.5}$$

as well as the boundary conditions

$$\begin{aligned} \sin \omega(x+0, \lambda) (c_j \sin \omega(x-0, \lambda) + d_j \cos \omega(x-0, \lambda)) \\ = \cos \omega(x+0, \lambda) (a_j \sin \omega(x-0, \lambda) \\ + b_j \cos \omega(x-0, \lambda)), \end{aligned} \tag{1.6}$$

$$\operatorname{sgn}(\sin \omega(x+0, \lambda)) = \operatorname{sgn}(a_j \sin \omega(x-0, \lambda) + b_j \cos \omega(x-0, \lambda)), \tag{1.7}$$

$$\operatorname{sgn}(\cos \omega(x+0, \lambda)) = \operatorname{sgn}(c_j \sin \omega(x-0, \lambda) + d_j \cos \omega(x-0, \lambda)) \tag{1.8}$$

for  $x \in \Gamma_j$  and  $j = 1, 2, \dots, n$ , where

$$\operatorname{sgn} x = \begin{cases} 1 & \text{if } x > 0, \\ 0 & \text{if } x = 0, \\ -1 & \text{if } x < 0. \end{cases}$$

To determine the principal value of  $\omega(x+0, \lambda)$  by the boundary condition (1.6), (1.7), and (1.8), we must select a branch of  $\omega(x+0, \lambda)$  for  $x \in \Gamma$ . We choose the branch of  $\omega(x+0, \lambda)$  as

$$-\pi \leq \omega(x+0, \lambda) - \omega(x-0, \lambda) < \pi \quad \text{for } x \in \Gamma. \tag{1.9}$$

Thanks to this selection,  $\omega(x+0, \lambda)$  is uniquely determined. We pick  $\omega_0 \in \mathbb{R}$ . Let  $\omega = \omega(x, \lambda, \omega_0)$  be the solution of (1.5)–(1.9) subject to the initial condition

$$\omega(+0, \lambda) = \omega_0. \tag{1.10}$$

We define the rotation number of (1.5)–(1.9) as

$$\rho(\lambda) = \lim_{n \rightarrow \infty} \frac{\omega(2n\pi + 0, \lambda, \omega_0) - \omega_0}{2n\pi}. \tag{1.11}$$

By a similar way to the proof of [7, Theorem 2.1], it follows that the limit exists and is independent of the initial value  $\omega_0$ . Furthermore, the function  $\rho(\lambda)$  is non-decreasing on  $\mathbb{R}$ .

For a finite set  $A$ , we denote by  $\sharp A$  the number of the elements of  $A$ . We put

$$B_j = [\alpha_j, \beta_j] \quad \text{for } j \in \mathbb{N},$$

$$l = \sharp\{1 \leq j \leq n \mid (b_j < 0) \text{ or } (b_j = 0, \quad d_j < 0)\}.$$

The main result is the following theorem, which describes a relationship between the rotation number and the band edges of  $\sigma(H)$ .

**Theorem 1.2.** *For  $m \in \mathbb{N}$ , we have*

$$\alpha_m = \max \left\{ \lambda \in \mathbb{R} \mid \rho(\lambda) = \frac{m-1}{2} - \frac{l}{2} \right\}, \tag{1.12}$$

$$\beta_m = \min \left\{ \lambda \in \mathbb{R} \mid \rho(\lambda) = \frac{m}{2} - \frac{l}{2} \right\}. \tag{1.13}$$

We stress that the results (1.12) and (1.13) critically depend on the choice of the branch of  $\omega(x+0, \lambda)$  for  $x \in \Gamma$ , which we will demonstrate in Section 4.

Our study is motivated by the works [4, 9, 13, 14]. The rotation number has a close relation to the spectrum of the Schrödinger operators with almost periodic potentials. Such a relationship was first established by Johnson and Moser [9, 13]. In order to recall that, we introduce the almost periodic Schrödinger operators  $L = -d^2/dx^2 + q(x)$ , where  $q$  is an almost periodic function with a frequency module  $\mathcal{M}$ . They proved that the rotation number  $\alpha(\lambda)$  of  $L$  exists and defines a continuous function in  $\{\lambda \in \mathbb{C} \mid \text{Im } \lambda \geq 0\}$ . Furthermore,  $\alpha(\lambda)$  is constant in an open interval  $I$  in a spectral gap and  $2\alpha(\lambda) \in \mathcal{M}$  for  $\lambda \in I$ . As the special case where  $q$  is periodic of period  $\ell$ , they labeled the  $j$ th band  $\tilde{B}_j$  of  $\sigma(L)$  as

$$\tilde{B}_j = \left\{ \lambda \in \mathbb{R} \mid j-1 < \frac{\ell\alpha(\lambda)}{\pi} < j \right\} \tag{1.14}$$

for  $j \in \mathbb{N}$ . Besides, they showed that

$$\lim_{x \rightarrow \infty} \frac{N(x, \lambda)}{x} = \frac{\alpha(\lambda)}{\pi}$$

if  $N(x, \lambda)$  is the number of the zeroes in  $[0, x]$  of a nontrivial solution to  $(L\varphi)(x) = \lambda\varphi(x)$ . This limit is called the density of states in physics. These facts are summarized in [13] and proved in detail in [9]. The rotation number is useful in the spectral analysis of the Hill equations; Gan and Zhang [4] utilized (1.14) in the investigation of the resonance pockets of the Hill equations with two-step potentials.

The one-dimensional Schrödinger operators with periodic singular potentials have been studied by numerous authors; we refer to [2, 5, 6, 8, 12, 14, 17, 18] and [1] for a thorough review. Such an operator is the Hamiltonian for an electron in a one-dimensional crystal and plays an important role in solid state physics (see,

e.g., [11]). In 1931, Kronig and Penney [12] introduced and discussed the Hamiltonian which is formally expressed as

$$L_1 = -\frac{d^2}{dx^2} + \beta \sum_{l=-\infty}^{\infty} \delta(x - 2\pi l) \quad \text{in } L^2(\mathbb{R}),$$

where  $\delta(x)$  is the Dirac delta function at the origin and  $\beta \in \mathbb{R} \setminus \{0\}$ . The Dirac delta function is the most typical point interaction. This operator is nowadays called the Kronig–Penney Hamiltonian. In our notations the operators  $L_1$  is expressed as  $L_1 = H(0, M_1)$ , where

$$M_1 = \begin{pmatrix} 1 & 0 \\ \beta & 1 \end{pmatrix}.$$

They drew the band function of  $L_1$ . Afterward, a new class of point interactions was inspired by Gesztesy, Holden, and Kirsch (see [5,6]). They studied the operator  $L_2 := H(0, M_2)$  with

$$M_2 = \begin{pmatrix} 1 & \beta \\ 0 & 1 \end{pmatrix}.$$

We mention that this operator has the formal expression

$$L_2 = -\frac{d^2}{dx^2} + \beta \sum_{l=-\infty}^{\infty} \delta'(x - 2\pi l) \quad \text{in } L^2(\mathbb{R}).$$

Furthermore, the  $\delta'$ -interaction was generalized by Šeba [17] (see also [2] and [1, Section K.1.4]). He proved that the domain of any self-adjoint extension of  $(-d^2/dx^2)|_{C_0^\infty(\mathbb{R} \setminus \{0\})}$  in  $L^2(\mathbb{R})$  of coupled type is expressed as

$$\left\{ y \in H^2(\mathbb{R} \setminus \{0\}) \left| \begin{pmatrix} y(+0) \\ y'(+0) \end{pmatrix} = cA \begin{pmatrix} y(-0) \\ y'(-0) \end{pmatrix} \right. \right\}$$

with  $A \in SL_2(\mathbb{R})$ ,  $c \in \mathbb{C}$ , and  $|c| = 1$ . On the other hand, Hughes [8] gave the Floquet–Bloch decomposition of the Schrödinger operator with generalized point interactions of the form  $L_3 = H(\theta_1, A_1)$  with  $A_1 \in SL_2(\mathbb{R})$ . These backgrounds attract our interest to the generalized Kronig–Penney Hamiltonians  $H = H(\theta_1, \theta_2, \dots, \theta_n, A_1, A_2, \dots, A_n)$  and their spectra.

In our previous work [14] we determined the indices of the absent spectral gaps of  $H$  in the case where

$$n = 2 \quad \text{and} \quad A_1, A_2 \in SO(2) \setminus \{E, -E\}, \quad (1.15)$$

$E$  being the  $2 \times 2$  unit matrix. For that purpose we established (1.12) and (1.13) in the case (1.15); see [14, Theorem 4.3]. We emphasize that the proof of (1.12) and (1.13) for general  $A_j$  is subtler than that for (1.15). Indeed, in the latter case the boundary conditions (1.6)–(1.8) reduce to a rather simpler form

$$\omega(x + 0, \lambda) - \omega(x - 0, \lambda) = \gamma_j \quad \text{for } x \in \Gamma_j,$$

where

$$A_j = \begin{pmatrix} \cos \gamma_j & -\sin \gamma_j \\ \sin \gamma_j & \cos \gamma_j \end{pmatrix}.$$

In a subsequent paper [15], we utilize Theorem 1.2 to determine the indices of the absent spectral gaps in various classes of the generalized Kronig–Penney Hamiltonians.

We organize this paper as follows. In Section 2, we show Proposition 1.1. Section 3 is devoted to the proof of Theorem 1.2. In Section 4, we demonstrate how the choice (1.9) affects the results in Theorem 1.2. In Section 5, we perform the perturbation theory for the generalized Kronig–Penney Hamiltonians; we consider the operator  $\tilde{H} = \tilde{H}(\theta_1, \dots, \theta_2, A_1, \dots, A_n)$  in  $L^2(\mathbb{R})$  defined as

$$\tilde{H} = H + q,$$

where  $q \in L^\infty(\mathbb{R}; \mathbb{R})$  is a  $2\pi$ -periodic function. We describe a relationship between the rotation number and the band edges of  $\sigma(\tilde{H})$ .

## 2. Proof of Proposition 1.1

We consider the equations

$$-y''(x, \lambda) = \lambda y(x, \lambda), \quad x \in \mathbb{R} \setminus \Gamma, \quad (2.1)$$

$$\begin{pmatrix} y(x+0, \lambda) \\ y'(x+0, \lambda) \end{pmatrix} = e^{i\theta_j} A_j \begin{pmatrix} y(x-0, \lambda) \\ y'(x-0, \lambda) \end{pmatrix}, \quad x \in \Gamma_j, \quad j = 1, 2, \dots, n, \quad (2.2)$$

where  $\lambda$  is a real parameter. These equations have two solutions  $y_1(x, \lambda)$  and  $y_2(x, \lambda)$  which are uniquely determined by the initial conditions

$$y_1(+0, \lambda) = 1, \quad y_1'(+0, \lambda) = 0,$$

and

$$y_2(+0, \lambda) = 0, \quad y_2'(+0, \lambda) = 1,$$

respectively. We introduce the discriminant  $D(\lambda)$  of (2.1) and (2.2):

$$D(\lambda) = y_1(2\pi + 0, \lambda) + y_2'(2\pi + 0, \lambda). \quad (2.3)$$

The matrix

$$M(\lambda) := \begin{pmatrix} y_1(2\pi + 0, \lambda) & y_2(2\pi + 0, \lambda) \\ y_1'(2\pi + 0, \lambda) & y_2'(2\pi + 0, \lambda) \end{pmatrix} \quad (2.4)$$

is called the monodromy matrix of (2.1) and (2.2). The characteristic equation of  $M(\lambda)$  is

$$t^2 - D(\lambda)t + e^{2i(\theta_1 + \theta_2 + \dots + \theta_n)} = 0, \quad (2.5)$$

since  $\det M(\lambda) = e^{2i(\theta_1+\theta_2+\dots+\theta_n)}$ . It follows that  $\lambda$  is an eigenvalue of  $H_\mu$  if and only if  $e^{i\mu}$  is a root of (2.5). Thus, the sequence  $\{\lambda_j(\mu)\}_{j=1}^\infty$  provides all the zeros of  $D(\lambda) - (e^{i\mu} + e^{2i(\theta_1+\theta_2+\dots+\theta_n)-i\mu})$ . We put

$$A_{n+1} = \begin{pmatrix} a_{n+1} & b_{n+1} \\ c_{n+1} & d_{n+1} \end{pmatrix} = A_1 \tag{2.6}$$

and  $\theta_{n+1} = \theta_1$ . The solutions  $y_1$  and  $y_2$  satisfy the recurrence relations

$$y_k(\kappa_j + 0, \lambda) = \alpha_j(\lambda)y_k(\kappa_{j-1} + 0, \lambda) + \beta_j(\lambda)y'_k(\kappa_{j-1} + 0, \lambda), \tag{2.7}$$

$$y'_k(\kappa_j + 0, \lambda) = \gamma_j(\lambda)y_k(\kappa_{j-1} + 0, \lambda) + \delta_j(\lambda)y'_k(\kappa_{j-1} + 0, \lambda) \tag{2.8}$$

for  $k = 1, 2$ , where

$$\alpha_j(\lambda) = e^{i\theta_j} \left( a_j \cos \tau_j \sqrt{\lambda} - b_j \sqrt{\lambda} \sin \tau_j \sqrt{\lambda} \right), \tag{2.9}$$

$$\beta_j(\lambda) = e^{i\theta_j} \left( \frac{a_j}{\sqrt{\lambda}} \sin \tau_j \sqrt{\lambda} + b_j \cos \tau_j \sqrt{\lambda} \right), \tag{2.10}$$

$$\gamma_j(\lambda) = e^{i\theta_j} \left( c_j \cos \tau_j \sqrt{\lambda} - d_j \sqrt{\lambda} \sin \tau_j \sqrt{\lambda} \right), \tag{2.11}$$

$$\delta_j(\lambda) = e^{i\theta_j} \left( \frac{c_j}{\sqrt{\lambda}} \sin \tau_j \sqrt{\lambda} + d_j \cos \tau_j \sqrt{\lambda} \right), \tag{2.12}$$

and

$$\tau_j = \kappa_j - \kappa_{j-1} > 0$$

for  $j = 2, \dots, n + 1$ . In the next lemma, we investigate the asymptotic behavior of  $y_1(2\pi + 0, \lambda)$  and  $y'_2(2\pi + 0, \lambda)$  as  $\lambda \rightarrow -\infty$ . Let

$$\Lambda_1(n) = \{2 \leq l \leq n + 1 \mid b_l = 0\}, \tag{2.13}$$

$$\Lambda_2(n) = \{2 \leq l \leq n + 1 \mid b_l \neq 0\}, \tag{2.14}$$

$$k(n) = \#\Lambda_1(n), \tag{2.15}$$

and

$$\mu(n) = \begin{cases} \left( \prod_{j \in \Lambda_2(n-1)} b_j \right) \left( \prod_{i \in \Lambda_1(n-1)} (a_i + d_i) \right) & \text{if } n \in \mathbb{N} \setminus \{1\}, \\ 1 & \text{if } n = 1. \end{cases} \tag{2.16}$$

We have  $\mu(n) \neq 0$  for  $n \in \mathbb{N}$ .

**Lemma 2.1.** *We have*

$$\begin{aligned} & \frac{y_1(\kappa_{n+1} + 0, \lambda)}{\prod_{j=2}^{n+1} e^{i\theta_j} \cosh \tau_j \sqrt{-\lambda}} \\ &= \begin{cases} a_{n+1}\mu(n) (\sqrt{-\lambda})^{n-k(n)} + \mathcal{O} \left( (\sqrt{-\lambda})^{n-k(n)-1} \right) & \text{if } b_{n+1} = 0, \\ b_{n+1}\mu(n) (\sqrt{-\lambda})^{n-k(n)} + \mathcal{O} \left( (\sqrt{-\lambda})^{n-k(n)-1} \right) & \text{if } b_{n+1} \neq 0, \end{cases} \end{aligned} \tag{2.17}$$



$$\frac{y_1'(\kappa_{n+1} + 0, \lambda)}{\prod_{j=2}^{n+1} e^{i\theta_j} \cosh \tau_j \sqrt{-\lambda}} = \begin{cases} d_{n+1}\mu(n) (\sqrt{-\lambda})^{n-k(n)+1} + \mathcal{O}\left((\sqrt{-\lambda})^{n-k(n)}\right) & \text{if } b_{n+1} = 0, \\ d_{n+1}\mu(n) (\sqrt{-\lambda})^{n-k(n)} \\ + \{c_{n+1}\mu(n) + d_{n+1}\mathcal{O}(1)\} (\sqrt{-\lambda})^{n-k(n)-1} \\ + \mathcal{O}\left((\sqrt{-\lambda})^{n-k(n)-2}\right) & \text{if } b_{n+1} \neq 0, \end{cases} \quad (2.18)$$

$$\frac{y_2(\kappa_{n+1} + 0, \lambda)}{\prod_{j=2}^{n+1} e^{i\theta_j} \cosh \tau_j \sqrt{-\lambda}} = \begin{cases} a_{n+1}\mu(n) (\sqrt{-\lambda})^{n-k(n)-1} + \mathcal{O}\left((\sqrt{-\lambda})^{n-k(n)-2}\right) & \text{if } b_{n+1} = 0, \\ b_{n+1}\mu(n) (\sqrt{-\lambda})^{n-k(n)-1} + \mathcal{O}\left((\sqrt{-\lambda})^{n-k(n)-2}\right) & \text{if } b_{n+1} \neq 0, \end{cases} \quad (2.19)$$

$$\frac{y_2'(\kappa_{n+1} + 0, \lambda)}{\prod_{j=2}^{n+1} e^{i\theta_j} \cosh \tau_j \sqrt{-\lambda}} = \begin{cases} d_{n+1}\mu(n) (\sqrt{-\lambda})^{n-k(n)} + \mathcal{O}\left((\sqrt{-\lambda})^{n-k(n)-1}\right) & \text{if } b_{n+1} = 0, \\ d_{n+1}\mu(n) (\sqrt{-\lambda})^{n-k(n)-1} \\ + \{c_{n+1}\mu(n) + d_{n+1}\mathcal{O}(1)\} (\sqrt{-\lambda})^{n-k(n)-2} \\ + \mathcal{O}\left((\sqrt{-\lambda})^{n-k(n)-3}\right) & \text{if } b_{n+1} \neq 0 \end{cases} \quad (2.20)$$

as  $\lambda \rightarrow -\infty$ .

*Proof.* First of all, we simultaneously prove (2.17) and (2.18) by induction. It follows by (2.7) and (2.8) that

$$y_1(\kappa_2 + 0, \lambda) = e^{i\theta_2} \cosh \tau_2 \sqrt{-\lambda} \left( a_2 + b_2 \sqrt{-\lambda} \tanh \tau_2 \sqrt{-\lambda} \right),$$

$$y_1'(\kappa_2 + 0, \lambda) = e^{i\theta_2} \cosh \tau_2 \sqrt{-\lambda} \left( c_2 + d_2 \sqrt{-\lambda} \tanh \tau_2 \sqrt{-\lambda} \right)$$

for  $\lambda < 0$ . This implies that (2.17) and (2.18) hold when  $n = 1$ . We pick an integer  $m \geq 2$ , arbitrarily. We suppose that (2.17) and (2.18) are valid if  $n = m - 1$ .

We consider the case where  $b_m = 0$ . It follows by definition that

$$\mu(m) = (a_m + d_m)\mu(m - 1).$$

Then it follows by (2.7) and (2.8) that

$$\frac{y_1(\kappa_{m+1} + 0, \lambda)}{\prod_{j=2}^{m+1} e^{i\theta_j} \cosh \tau_j \sqrt{-\lambda}} = \left( a_{m+1} + b_{m+1} \sqrt{-\lambda} \tanh \tau_{m+1} \sqrt{-\lambda} \right) \times \left\{ a_m \mu(m - 1) (\sqrt{-\lambda})^{m-k(m-1)-1} + \mathcal{O}\left((\sqrt{-\lambda})^{m-k(m-1)-2}\right) \right\}$$

$$\begin{aligned}
 & + \left( \frac{a_{m+1}}{\sqrt{-\lambda}} \tanh \tau_{m+1} \sqrt{-\lambda} + b_{m+1} \right) \\
 & \times \left\{ d_m \mu(m-1) (\sqrt{-\lambda})^{m-k(m-1)-1} + \mathcal{O} \left( (\sqrt{-\lambda})^{m-k(m-1)-2} \right) \right\} \\
 = & \begin{cases} a_{m+1}(a_m + d_m) \mu(m-1) (\sqrt{-\lambda})^{m-k(m-1)-1} \\ + \mathcal{O} \left( (\sqrt{-\lambda})^{m-k(m-1)-2} \right) & \text{if } b_{m+1} = 0, \\ b_{m+1}(a_m + d_m) \mu(m-1) (\sqrt{-\lambda})^{m-k(m-1)-1} \\ + \mathcal{O} \left( (\sqrt{-\lambda})^{m-k(m-1)-2} \right) & \text{if } b_{m+1} \neq 0, \end{cases} \\
 = & \begin{cases} a_{m+1} \mu(m) (\sqrt{-\lambda})^{m-k(m)-1} + \mathcal{O} \left( (\sqrt{-\lambda})^{m-k(m)-2} \right) & \text{if } b_{m+1} = 0, \\ b_{m+1} \mu(m) (\sqrt{-\lambda})^{m-k(m)-1} + \mathcal{O} \left( (\sqrt{-\lambda})^{m-k(m)-2} \right) & \text{if } b_{m+1} \neq 0, \end{cases}
 \end{aligned}$$

and

$$\begin{aligned}
 & \frac{y_1'(\kappa_{m+1} + 0, \lambda)}{\prod_{j=2}^{m+1} e^{i\theta_j} \cosh \tau_j \sqrt{-\lambda}} \\
 = & \left( c_{m+1} + d_{m+1} \sqrt{-\lambda} \tanh \tau_{m+1} \sqrt{-\lambda} \right) \\
 & \times \left\{ a_m \mu(m-1) (\sqrt{-\lambda})^{m-k(m-1)-1} + \mathcal{O} \left( (\sqrt{-\lambda})^{m-k(m-1)-2} \right) \right\} \\
 & + \left( \frac{c_{m+1}}{\sqrt{-\lambda}} \tanh \tau_{m+1} \sqrt{-\lambda} + d_{m+1} \right) \\
 & \times \left\{ d_m \mu(m-1) (\sqrt{-\lambda})^{m-k(m-1)-1} + \mathcal{O} \left( (\sqrt{-\lambda})^{m-k(m-1)-2} \right) \right\} \\
 = & \begin{cases} d_{m+1}(a_m + d_m) \mu(m-1) (\sqrt{-\lambda})^{m-k(m-1)-1} + \mathcal{O} \left( (\sqrt{-\lambda})^{m-k(m-1)-2} \right) \\ \text{if } b_{m+1} = 0, \\ d_{m+1}(a_m + d_m) \mu(m-1) (\sqrt{-\lambda})^{m-k(m-1)-1} \\ + \left\{ c_{m+1}(a_m + d_m) \mu(m-1) + d_{m+1} \mathcal{O}(1) \right\} (\sqrt{-\lambda})^{m-1-k(m-1)-1} \\ + \mathcal{O} \left( (\sqrt{-\lambda})^{m-k(m-1)-2} \right) & \text{if } b_{m+1} \neq 0, \end{cases} \\
 = & \begin{cases} d_{m+1} \mu(m) (\sqrt{-\lambda})^{m-k(m)+1} + \mathcal{O} \left( (\sqrt{-\lambda})^{m-k(m)} \right) & \text{if } b_{m+1} = 0, \\ d_{m+1} \mu(m) (\sqrt{-\lambda})^{m-k(m)+1} \\ + \left\{ c_{m+1} \mu(m) + d_{m+1} \mathcal{O}(1) \right\} \mathcal{O} \left( (\sqrt{-\lambda})^{m-k(m)-1} \right) \\ + \mathcal{O} \left( (\sqrt{-\lambda})^{m-k(m)-2} \right) & \text{if } b_{m+1} \neq 0 \end{cases}
 \end{aligned}$$

as  $\lambda \rightarrow -\infty$ . In a similar way we get the claim for  $b_m \neq 0$ . Therefore, we have (2.17) and (2.18) for all  $n \in \mathbb{N}$ .

Similarly, we obtain (2.19) and (2.20). □

We write  $f(\lambda) \sim g(\lambda)$  as  $\lambda \rightarrow -\infty$  if and only if  $f(\lambda)/g(\lambda) \rightarrow 1$  as  $\lambda \rightarrow -\infty$ . Using Lemma 2.1 and (2.3), we have

$$D(\lambda) \sim \left( \prod_{j=2}^{n+1} e^{i\theta_j} \cosh \tau_j \sqrt{-\lambda} \right) \mu(n+1) (\sqrt{-\lambda})^{n-k(n)} \quad (2.21)$$

as  $\lambda \rightarrow -\infty$ . Now we have prepared to show Proposition 1.1.

*Proof of Proposition 1.1.* We have only to prove the statements (e), (f), and (g), since the demonstrations of (a), (b), (c), and (d) are similar to those of [10, Theorem XIII.89 (a), (b), and (c)] and of [10, Theorem XIII.90 (a)].

We now prove (e). By the definition of  $H_\mu$  and that of  $\mathcal{H}_\mu$ , we claim that

$$\sigma(H_\mu(\theta_1, \dots, \theta_n, A_1, \dots, A_n)) = \sigma(H_{(\mu - (\theta_1 + \dots + \theta_n))}(0, \dots, 0, A_1, \dots, A_n)).$$

This combined with (b) and (d) implies the claim (e).

Next we show (f) and (g). Let  $\theta_1 = \dots = \theta_n = 0$ . It follows from (2.17) and (2.6) that

$$\lim_{\lambda \rightarrow -\infty} D(\lambda) = \begin{cases} +\infty & \text{if } \mu(n+1) > 0, \\ -\infty & \text{if } \mu(n+1) < 0. \end{cases}$$

Therefore we arrive at the conclusions (f) and (g) in a similar way to [12, Proposition 1, (d) and (e)]. □

### 3. Proof of Theorem 1.2

In this section, we prove Theorem 1.2. We recall (2.6). Let

$$q_j = \#\{2 \leq k \leq j \mid (b_k < 0) \text{ or } (b_k = 0, d_k < 0)\},$$

$$q_1 = 0,$$

and

$$\eta_j = \begin{cases} \text{Arctan}(b_j/d_j) - q_{j-1}\pi & \text{if } b_j > 0, d_j > 0, \\ \text{Arctan}(b_j/d_j) + \pi - q_{j-1}\pi, & \text{if } b_j > 0, d_j < 0, \\ \pi/2 - q_{j-1}\pi & \text{if } b_j > 0, d_j = 0, \\ \text{Arctan}(b_j/d_j) - \pi - q_{j-1}\pi, & \text{if } b_j < 0, d_j < 0, \\ \text{Arctan}(b_j/d_j) - q_{j-1}\pi & \text{if } b_j < 0, d_j > 0, \\ -\pi/2 - q_{j-1}\pi & \text{if } b_j < 0, d_j = 0, \\ -q_{j-1}\pi & \text{if } b_j = 0, d_j > 0, \\ -\pi - q_{j-1}\pi & \text{if } b_j = 0, d_j < 0 \end{cases}$$

for  $2 \leq j \leq n+1$ , where  $\text{Arctan}(x) \in (-\pi/2, \pi/2)$  for  $x \in \mathbb{R}$ . Since

$$q_j = \begin{cases} q_{j-1} + 1 & \text{if } (b_j < 0) \text{ or } (b_j = 0, d_j < 0), \\ q_{j-1} & \text{otherwise,} \end{cases}$$

we have

$$\eta_j \in [-q_j\pi, -q_j\pi + \pi). \tag{3.1}$$

We pick a  $\gamma \in (0, \pi)$  such that

$$\eta_j < -q_j\pi + \gamma \quad \text{for } j = 2, 3, \dots, n + 1.$$

Then we have the following lemma.

**Lemma 3.1.** *Let  $0 \leq \omega_0 < \pi$ . Then, there exists  $\lambda_0 \in \mathbb{R}$  such that*

$$-\pi(q_j + pq_{n+1}) \leq \omega(\kappa_j + 2\pi p + 0, \lambda, \omega_0) \leq -\pi(q_j + pq_{n+1}) + \gamma$$

for any  $p \in \mathbb{N} \cup \{0\}$ ,  $j = 2, 3, \dots, n + 1$ ,  $\lambda \leq \lambda_0$ , and  $\omega_0 \in [0, \gamma]$ .

*Proof.* To prove this lemma, we recall a fundamental fact on the Prüfer transform from [2, Chapter 8, Theorem 2.1]. Let  $c < d$ . For  $\beta \in [0, \pi)$ , let  $\theta = \theta(x, \lambda, c, \beta)$  be the solution to the initial value problem

$$\frac{d}{dx}\theta = \cos^2 \theta + \lambda \sin^2 \theta \quad \text{on } \mathbb{R}, \tag{3.2}$$

$$\theta|_{x=c} = \beta. \tag{3.3}$$

Then, it holds that

$$\lim_{\lambda \rightarrow -\infty} \theta(d, \lambda, c, \beta) = 0. \tag{3.4}$$

Moreover, the function  $\theta(d, \cdot, c, \beta)$  is strictly monotone increasing on  $\mathbb{R}$ .

We fix  $\omega_0 \in [0, \gamma]$ . By (3.4), we have

$$\lim_{\lambda \rightarrow -\infty} \omega(\kappa_2 - 0, \lambda, \omega_0) = 0. \tag{3.5}$$

By induction on  $j = 2, 3, \dots, n + 1$ , we shall show the following statements.

The limit  $\beta_j := \lim_{\lambda \rightarrow -\infty} \omega(\kappa_j - 0, \lambda, \omega_0) \in \mathbb{R}$  exists, and we have  $\beta_j = -q_{j-1}\pi$ .  $\tag{3.6}$

The function  $\omega(\kappa_j - 0, \cdot, \omega_0)$  is strictly monotone increasing on  $\mathbb{R}$ .  $\tag{3.7}$

In the first instance, it follows by (3.5) that (3.6) and (3.7) are valid for  $j = 2$ . We pick  $m \in \{2, 3, \dots, n + 1\}$ , arbitrarily. Suppose that (3.6) and (3.7) hold for  $j = m$ . We show that the limit

$$\alpha_m := \lim_{\lambda \rightarrow -\infty} \omega(\kappa_m + 0, \lambda, \omega_0)$$

exists.

We consider the case where  $d_m \neq 0$ . By (1.6), we have

$$\tan \omega(\kappa_m + 0, \lambda, \omega_0) = \frac{a_m \tan \omega(\kappa_m - 0, \lambda, \omega_0) + b_m}{c_m \tan \omega(\kappa_m - 0, \lambda, \omega_0) + d_m}. \tag{3.8}$$

Since  $\beta_m = -q_{m-1}\pi$  by assumption, it follows that

$$\lim_{\lambda \rightarrow -\infty} \tan \omega(\kappa_m + 0, \lambda, \omega_0) = b_m/d_m.$$

Since the function  $\tan x$  is continuous and strictly monotone increasing in a neighborhood of the point  $b_m/d_m$ , it follows that the limit  $\alpha_m$  exists.

Next we discuss the case where  $d_m = 0$ . Suppose that  $d_m = 0$ . Then, it follows by (1.6) that

$$\begin{aligned} & c_m \sin \omega(\kappa_m + 0, \lambda, \omega_0) \sin \omega(\kappa_m - 0, \lambda, \omega_0) \\ &= \cos \omega(\kappa_m + 0, \lambda, \omega_0) (a_m \sin \omega(\kappa_m - 0, \lambda, \omega_0) + b_m \cos \omega(\kappa_m - 0, \lambda, \omega_0)). \end{aligned}$$

Since  $\beta_m = -q_{m-1}\pi$ , we have

$$|c_m \sin \omega(\kappa_m + 0, \lambda, \omega_0) \sin \omega(\kappa_m - 0, \lambda, \omega_0)| \leq |c_m \sin \omega(\kappa_m - 0, \lambda, \omega_0)| \rightarrow 0$$

as  $\lambda \rightarrow -\infty$ . On the other hand, it follows by  $a_m d_m - b_m c_m = 1$  and  $d_m = 0$  that

$$a_m \sin \omega(\kappa_m - 0, \lambda, \omega_0) + b_m \cos \omega(\kappa_m - 0, \lambda, \omega_0) \rightarrow b_m (-1)^{q_{m-1}} \neq 0$$

as  $\lambda \rightarrow -\infty$ . Thereby we conclude that  $\lim_{\lambda \rightarrow -\infty} \cos \omega(\kappa_m + 0, \lambda, \omega_0) = 0$ . So  $\lim_{\lambda \rightarrow -\infty} \omega(\kappa_m + 0, \lambda, \omega_0) \in \mathbb{R}$  exists. Therefore  $\alpha_m$  exists in every case.

Next we show

$$\alpha_m = \eta_m. \tag{3.9}$$

By (1.6) and  $\beta_m = -q_{m-1}\pi$  it follows that

$$d_m \sin \alpha_m = b_m \cos \alpha_m. \tag{3.10}$$

First, we consider the case where  $b_m = 0$  and  $d_m > 0$ . Suppose that  $b_m = 0$  and  $d_m > 0$ . Then we have  $\sin \alpha_m = 0$ . Note that

$$c_m \sin \omega(\kappa_m - 0, \lambda, \omega_0) + d_m \cos \omega(\kappa_m - 0, \lambda, \omega_0) \rightarrow d_m (-1)^{q_{m-1}} \neq 0.$$

Since the function  $\operatorname{sgn}(\cdot)$  is continuous on  $\mathbb{R} \setminus \{0\}$ , it follows by (1.8) that

$$\begin{aligned} & \lim_{\lambda \rightarrow -\infty} \operatorname{sgn}(\cos \omega(\kappa_m + 0, \lambda, \omega_0)) \\ &= \lim_{\lambda \rightarrow -\infty} \operatorname{sgn}(c_m \sin \omega(\kappa_m - 0, \lambda, \omega_0) + d_m \cos \omega(\kappa_m - 0, \lambda, \omega_0)) \\ &= \operatorname{sgn}(d_m (-1)^{q_{m-1}}) \\ &= (-1)^{q_{m-1}}. \end{aligned} \tag{3.11}$$

Because  $\sin \alpha_m = 0$ , we have  $\lim_{\lambda \rightarrow -\infty} \cos \omega(\kappa_m + 0, \lambda, \omega_0) = \cos \alpha_m = \pm 1$ . Since the function  $\operatorname{sgn}(\cdot)$  is continuous in a neighborhood of  $\pm 1$ , we have

$$\lim_{\lambda \rightarrow -\infty} \operatorname{sgn}(\cos \omega(\kappa_m + 0, \lambda, \omega_0)) = \operatorname{sgn} \left( \lim_{\lambda \rightarrow -\infty} \cos \omega(\kappa_m + 0, \lambda, \omega_0) \right). \tag{3.12}$$

By (3.11) and (3.12), it follows that

$$\operatorname{sgn}(\cos \alpha_m) = (-1)^{q_{m-1}}.$$

This combined with  $\sin \alpha_m = 0$ ,  $\beta_m = -q_{m-1}\pi$ , and (1.9) means

$$\alpha_m = -q_{m-1}\pi.$$

Namely we have  $\alpha_m = \eta_m$  if  $b_m = 0$  and  $d_m > 0$ .

Next, we deal with the case where  $b_m > 0$  and  $d_m > 0$ . Suppose that  $b_m > 0$  and  $d_m > 0$ . We notice that

$$a_m \sin \omega(\kappa_m - 0, \lambda, \omega_0) + b_m \cos \omega(\kappa_m - 0, \lambda, \omega_0) \rightarrow b_m(-1)^{q_m-1} \neq 0$$

and

$$c_m \sin \omega(\kappa_m - 0, \lambda, \omega_0) + d_m \cos \omega(\kappa_m - 0, \lambda, \omega_0) \rightarrow d_m(-1)^{q_m-1} \neq 0.$$

Since the function  $\operatorname{sgn}(\cdot)$  is continuous on  $\mathbb{R} \setminus \{0\}$ , it follows by (1.7) and (1.8) that

$$\begin{aligned} \lim_{\lambda \rightarrow -\infty} \operatorname{sgn}(\sin \omega(\kappa_m + 0, \lambda, \omega_0)) &= \lim_{\lambda \rightarrow -\infty} \operatorname{sgn}(\cos \omega(\kappa_m + 0, \lambda, \omega_0)) \\ &= (-1)^{q_m-1}. \end{aligned} \tag{3.13}$$

The equation (3.10) implies  $\sin \alpha_m \neq 0$  and  $\cos \alpha_m \neq 0$ . The function  $\operatorname{sgn}(\cdot)$  is also continuous in a neighborhood of  $\sin \alpha_m$  and in that of  $\cos \alpha_m$ . Hence, (3.13) reduces to

$$\operatorname{sgn}(\sin \alpha_m) = (-1)^{q_m-1} = \operatorname{sgn}(\cos \alpha_m).$$

Combining this with (3.10) and (1.9), we have  $\alpha_m = -q_{m-1}\pi + \arctan(b_m/d_m)$ . Therefore we obtain  $\alpha_m = \eta_m$  if  $b_m > 0$  and  $d_m > 0$ . In a similarly we have  $\alpha_m = \eta_m$  in the other cases.

Next, we show that  $\omega(\kappa_m + 0, \cdot, \omega_0)$  is strictly monotone increasing on  $\mathbb{R}$ . Let  $f(x) = (a_mx + b_m)/(c_mx + d_m)$ . The function  $f(x)$  is strictly monotone increasing on  $\mathbb{R}$  in the case where  $c_m = 0$ , since  $a_md_m - b_mc_m = 1$ . In the case where  $c_m \neq 0$ , we see that  $\lim_{x \rightarrow -d_m/c_m \pm 0} f(x) = \mp \infty$  and that the function  $f(x)$  is strictly monotone increasing on  $(-\infty, -d_m/c_m)$  and on  $(-d_m/c_m, \infty)$ . Combining these fact with (3.8) and the monotonicity of  $\omega(\kappa_m - 0, \cdot, \omega_0)$ , we infer that  $\omega(\kappa_m + 0, \cdot, \omega_0)$  is strictly monotone increasing.

Since  $\omega(\kappa_{m+1} - 0, \lambda, \omega_0) = \theta(\kappa_{m+1}, \lambda, \kappa_m, \omega(\kappa_m + 0, \lambda, \omega_0))$ , (3.7) is valid for  $j = m + 1$ . Using the monotonicity of  $\omega(\kappa_m + 0, \cdot, \omega_0)$  and (3.1), we conclude that there exists  $\lambda_m \in \mathbb{R}$  such that

$$-q_m\pi \leq \omega(\kappa_m + 0, \lambda, \omega_0) \leq -q_m\pi + \gamma$$

for  $\lambda \leq \lambda_m$ . By the comparison theorem [3, Chapter 8] and this inequality, we have

$$\theta(\kappa_{m+1}, \lambda, \kappa_m, -q_m\pi) \leq \omega(\kappa_{m+1} - 0, \lambda, \omega_0) < \theta(\kappa_{m+1}, \lambda, \kappa_m, -q_m\pi + \gamma)$$

for  $\lambda \leq \lambda_m$ . Since (3.2) is  $\pi$ -periodic, we derive

$$\lim_{\lambda \rightarrow -\infty} \theta(\kappa_{m+1}, \lambda, \kappa_m, -q_m\pi) = \lim_{\lambda \rightarrow -\infty} \theta(\kappa_{m+1}, \lambda, \kappa_m, -q_m\pi + \gamma) = -q_m\pi,$$

so that

$$\beta_{m+1} = -q_m\pi.$$

Therefore we have proved (3.6) and (3.7) for  $j = m + 1$ . Therefore, (3.6) and (3.7) are valid for  $j = 2, 3, \dots, n + 1$ .

Put  $\lambda_0 = \min_{2 \leq j \leq n+1} \lambda_j$ . We have

$$-\pi q_j \leq \omega(\kappa_j + 0, \lambda, \omega_0) < -\pi q_j + \gamma \tag{3.14}$$

for  $j = 2, 3, \dots, n + 1$  and  $\lambda \leq \lambda_0$ .

Next we show the uniformity of the estimate (3.14) with respect to  $\omega_0 \in [0, \gamma]$ . According to the comparison theorem and  $\omega_0 \in [0, \gamma]$ , we have

$$\omega(\kappa_j + 0, \lambda, 0) \leq \omega(\kappa_j + 0, \lambda, \omega_0) \leq \omega(\kappa_j + 0, \lambda, \gamma).$$

Therefore the estimate (3.14) is uniform with respect to  $\omega_0 \in [0, \gamma]$ .

Since (1.5)–(1.8) is  $2\pi$ -periodic with respect to  $x$ , we have the desired assertion from (3.14).  $\square$

**Lemma 3.2.** *Put*

$$l = \#\{1 \leq j \leq n \mid (b_j < 0) \text{ or } (b_j = 0, \ d_j < 0)\}.$$

*Then, we have*

$$\lim_{\lambda \rightarrow -\infty} \rho(\lambda) = -\frac{l}{2}.$$

*Proof.* We notice  $q_{n+1} = l$ . By Lemma 2.1 we have

$$-\pi pl \leq \omega(2\pi p + 0, \lambda, \omega_0) \leq -\pi pl + \gamma \tag{3.15}$$

for  $0 \leq \omega_0 \leq \gamma$ ,  $\lambda \leq \lambda_0$ , and  $p \in \mathbb{N}$ . Therefore we arrive at our goal by dividing (3.15) by  $2p\pi$ .  $\square$

*Proof of Theorem 1.2.* Combining Lemma 3.2 with the proof of [4, Proposition 2.1], we get the assertions.  $\square$

#### 4. Remarks on Theorem 1.2

We demonstrate how the choice (1.9) of the principal value of  $\omega(x + 0, \lambda)$  on  $\Gamma$  affects (1.12) and (1.13). In order to see that, we choose the principal value of  $\omega(x + 0, \lambda)$  on  $\Gamma$  as

$$0 \leq \omega(x + 0, \lambda) - \omega(x - 0, \lambda) < 2\pi \quad \text{for } x \in \Gamma_j \quad \text{and } j = 1, 2, \dots, n \tag{4.1}$$

instead of (1.9). Then we have the following theorem in a similar way to Theorem 1.2.

**Theorem 4.1.** *Put*

$$l = \#\{1 \leq j \leq n \mid (b_j < 0) \text{ or } (b_j = 0, \ d_j < 0)\}.$$

*Then we have*

$$\alpha_m = \max \left\{ \lambda \in \mathbb{R} \mid \rho(\lambda) = \frac{m-1}{2} + \frac{l}{2} \right\},$$

$$\beta_m = \min \left\{ \lambda \in \mathbb{R} \mid \rho(\lambda) = \frac{m}{2} + \frac{l}{2} \right\}.$$

This is why our main result is largely affected by (1.9). Thereby, we must be careful about how the principal value is chosen in applications.

### 5. Perturbation theory for the generalized Kronig–Penney Hamiltonian

In this section we perturb the operator  $H$  by a bounded, periodic function and discuss its spectral properties. We introduce

$$L^\infty(\mathbb{R}; \mathbb{R}) = \{f : \mathbb{R} \rightarrow \mathbb{R} \mid \|f\|_{L^\infty(\mathbb{R})} < \infty\},$$

where  $\|f\|_{L^\infty(\mathbb{R})} = \text{ess. sup}_{x \in \mathbb{R}} |f(x)|$ . Assume that  $q \in L^\infty(\mathbb{R}; \mathbb{R})$  and  $q$  is a  $2\pi$ -periodic function. We recall (1.1) and (1.2). We define the operator

$$\tilde{H} = \tilde{H}(\theta_1, \dots, \theta_n, A_1, \dots, A_n) \quad \text{in } L^2(\mathbb{R})$$

as

$$\begin{aligned} \tilde{H} &= H + q, \\ \text{Dom}(\tilde{H}) &= \text{Dom}(H). \end{aligned}$$

Since  $H$  is self-adjoint operator and  $q \in L^\infty(\mathbb{R}, \mathbb{R})$ ,  $\tilde{H}$  is also self-adjoint (see [10, Section V. Theorem 4.10]). We have the direct integral representation of  $\tilde{H}$ :

$$\mathcal{U}\tilde{H}\mathcal{U}^{-1} = \int_0^{2\pi} \oplus \tilde{H}_\mu d\mu,$$

where  $\tilde{H}_\mu = H_\mu + q$ . Let  $\tilde{\lambda}_j(\mu)$  be the  $j$ th eigenvalue of  $\tilde{H}_\mu$  counted with multiplicity for  $j \in \mathbb{N}$ . We have the following statements, which are analogous to Proposition 1.1.

- Proposition 5.1.** (a) *The function  $\tilde{\lambda}_j(\cdot)$  is continuous on  $[0, 2\pi]$ .*  
 (b) *It holds that  $\tilde{\lambda}_j(\mu) = \tilde{\lambda}_j(-\mu + 2\theta_1 + \dots + 2\theta_n)$ .*  
 (c) *If  $\mu - (\theta_1 + \dots + \theta_n) \notin \pi\mathbb{Z}$ , then every eigenvalue of  $\tilde{H}_\mu$  is simple.*  
 (d) *The spectrum of  $\tilde{H}(\theta_1, \dots, \theta_n, A_1, \dots, A_n)$  is given by*

$$\begin{aligned} &\sigma(\tilde{H}(\theta_1, \dots, \theta_n, A_1, \dots, A_n)) \\ &= \bigcup_{\mu \in [\theta_1 + \dots + \theta_n, \theta_1 + \dots + \theta_n + \pi]} \sigma(\tilde{H}_\mu(\theta_1, \dots, \theta_n, A_1, \dots, A_n)) \\ &= \bigcup_{j=1}^{\infty} \tilde{\lambda}_j([\theta_1 + \dots + \theta_n, \theta_1 + \dots + \theta_n + \pi]) \\ &= \bigcup_{j=1}^{\infty} \bigcup_{\mu \in [\theta_1 + \dots + \theta_n, \theta_1 + \dots + \theta_n + \pi]} \{\tilde{\lambda}_j(\mu)\}. \end{aligned}$$

- (e) *The set  $\sigma(\tilde{H}(\theta_1, \dots, \theta_n, A_1, \dots, A_n))$  is independent of  $\{\theta_j\}_{j=1}^n$ .*  
 (f) *If  $\xi > 0$  and  $\theta_1 = \theta_2 = \dots = \theta_n = 0$ , then the function  $\tilde{\lambda}_j(\cdot)$  is strictly monotone increasing (respectively, decreasing) function on  $[0, \pi]$  for odd (respectively, even)  $j$ .*



(g) If  $\xi < 0$  and  $\theta_1 = \theta_2 = \dots = \theta_n = 0$ , then the function  $\tilde{\lambda}_j(\cdot)$  is strictly monotone increasing (respectively, decreasing) function on  $[0, \pi]$  for even (respectively, odd)  $j$ .

The proof of (a)–(e) in this proposition is exactly same as that in Proposition 1.1. Since the proof of (f) and (g) in Proposition 5.1 is even subtler than that in Proposition 1.1, we give a rather detailed proof of Proposition 5.1 (f) and (g) for the sake of completeness. We consider the equations

$$-y''(x, \lambda) + q(x)y(x, \lambda) = \lambda y(x, \lambda), \quad x \in \mathbb{R} \setminus \Gamma, \tag{5.1}$$

$$\begin{pmatrix} y(x+0, \lambda) \\ y'(x+0, \lambda) \end{pmatrix} = e^{i\theta_j} A_j \begin{pmatrix} y(x-0, \lambda) \\ y'(x-0, \lambda) \end{pmatrix},$$

$$x \in \Gamma_j, \quad j = 1, 2, \dots, n, \tag{5.2}$$

where  $\lambda$  is a real parameter. These equations also have two solutions  $y_1(x, \lambda)$  and  $y_2(x, \lambda)$  which are uniquely determined by the initial conditions

$$y_1(+0, \lambda) = 1, \quad y_1'(+0, \lambda) = 0,$$

and

$$y_2(+0, \lambda) = 0, \quad y_2'(+0, \lambda) = 1,$$

respectively. The differential equation (5.1) is equivalent to

$$-y''(x, \lambda) + (q(x) + \|q\|_{L^\infty(\mathbb{R})})y(x, \lambda) = (\lambda + \|q\|_{L^\infty(\mathbb{R})})y(x, \lambda), \tag{5.3}$$

where  $x \in \mathbb{R} \setminus \Gamma$ . Let

$$\tilde{q}(x) = q(x) + \|q\|_{L^\infty(\mathbb{R})}, \tag{5.4}$$

and

$$\tilde{\lambda} = \lambda + \|q\|_{L^\infty(\mathbb{R})}.$$

Let  $\lambda < -\|q\|_{L^\infty(\mathbb{R})}$  and  $\eta = \sqrt{-\tilde{\lambda}}$ . We have  $\tilde{\lambda} < 0$ . We define  $u_m(k, j-1, x, \lambda)$  as

$$\begin{aligned} u_0(k, j-1, x, \lambda) &= y_k(\kappa_{j-1} + 0, \lambda) \cosh(\eta(x - \kappa_{j-1})) \\ &\quad + y_k'(\kappa_{j-1} + 0, \lambda) \frac{\sinh(\eta(x - \kappa_{j-1}))}{\eta}, \end{aligned} \tag{5.5}$$

$$u_m(k, j-1, x, \lambda) = \frac{1}{\eta} \int_{\kappa_{j-1}}^x \sinh(\eta(x - \xi)) \tilde{q}(\xi) u_{m-1}(k, j-1, \xi, \lambda) d\xi \tag{5.6}$$

for  $m \in \mathbb{N}$ ,  $k = 1, 2$ ,  $j = 2, 3, \dots, n+1$ , and  $x \in (\kappa_{j-1}, \kappa_j)$ . By applying the Picard method of iteration to the differential equation (5.3), we have

$$y_k(x, \lambda) = \sum_{m=0}^{\infty} u_m(k, j-1, x, \lambda) \quad \text{for } x \in (\kappa_{j-1}, \kappa_j), \tag{5.7}$$

$$y_k'(x, \lambda) = \sum_{m=1}^{\infty} u_m'(k, j-1, x, \lambda) \quad \text{for } x \in (\kappa_{j-1}, \kappa_j). \tag{5.8}$$

Differentiating (5.6) with respect to  $x$ , we have

$$u'_m(k, j - 1, x, \lambda) = \int_{\kappa_{j-1}}^x \cosh(\eta(x - \xi)) \tilde{q}(\xi) u_{m-1}(k, j - 1, \xi, \lambda) d\xi \tag{5.9}$$

for  $k = 1, 2, j = 2, 3, \dots, n + 1$ , and  $x \in (\kappa_{j-1}, \kappa_j)$ .

For  $m \in \mathbb{N}$ ,  $k = 1, 2, j = 2, 3, \dots, n + 1$ , and  $x \in (\kappa_{j-1}, \kappa_j)$ , we define  $I_m(k, j - 1, x, \lambda)$ ,  $J_m(k, j - 1, x, \lambda)$ ,  $\tilde{I}_m(k, j - 1, x, \lambda)$ , and  $\tilde{J}_m(k, j - 1, x, \lambda)$  as

$$u_m(k, j - 1, x, \lambda) = \cosh(\eta(x - \kappa_{j-1})) \times \left\{ y_k(\kappa_{j-1} + 0, \lambda) I_m(k, j - 1, x, \lambda) + \frac{y'_k(\kappa_{j-1} + 0, \lambda)}{\eta} J_m(k, j - 1, x, \lambda) \right\}, \tag{5.10}$$

$$u'_m(k, j - 1, x, \lambda) = \cosh(\eta(x - \kappa_{j-1})) \times \left\{ y_k(\kappa_{j-1} + 0, \lambda) \eta \tanh(\eta(x - \kappa_{j-1})) \tilde{I}_m(k, j - 1, x, \lambda) + y'_k(\kappa_{j-1} + 0, \lambda) \tilde{J}_m(k, j - 1, x, \lambda) \right\}. \tag{5.11}$$

Summarizing (5.7), (5.8), (5.10), and (5.11), we obtain

$$y_k(\kappa_j - 0, \lambda) = \cosh \tau_j \eta \times \left\{ y_k(\kappa_{j-1} + 0, \lambda) \sum_{m=0}^{\infty} I_m(k, j - 1, \kappa_j - 0, \lambda) + \frac{y'_k(\kappa_{j-1} + 0, \lambda)}{\eta} \sum_{m=0}^{\infty} J_m(k, j - 1, \kappa_j - 0, \lambda) \right\}, \tag{5.12}$$

$$y'_k(\kappa_j - 0, \lambda) = \cosh \tau_j \eta \times \left\{ y_k(\kappa_{j-1} + 0, \lambda) \eta (\tanh \tau_j \eta) \sum_{n=0}^{\infty} \tilde{I}_m(k, j - 1, \kappa_j - 0, \lambda) + y'_k(\kappa_{j-1} + 0, \lambda) \sum_{m=0}^{\infty} \tilde{J}_m(k, j - 1, \kappa_j - 0, \lambda) \right\}. \tag{5.13}$$

By (5.2), (5.12), and (5.13), we obtain

$$y_k(\kappa_j + 0, \lambda) = \alpha_j(k, \lambda) y_k(\kappa_{j-1} + 0, \lambda) + \beta_j(k, \lambda) y'_k(\kappa_{j-1} + 0, \lambda),$$

$$y'_k(\kappa_j + 0, \lambda) = \gamma_j(k, \lambda) y_k(\kappa_{j-1} + 0, \lambda) + \delta_j(k, \lambda) y'_k(\kappa_{j-1} + 0, \lambda)$$

for  $k = 1, 2, j = 2, 3, \dots, n + 1$ , and  $\lambda < -\|q\|_{L^\infty(\mathbb{R})}$ , where

$$\begin{aligned} \alpha_j(k, \lambda) = e^{i\theta_j} & \left( a_j \cosh(\tau_j \eta) \sum_{m=0}^{\infty} I_m(k, j - 1, \kappa_j - 0, \lambda) \right. \\ & \left. + b_j \eta \sinh(\tau_j \eta) \sum_{m=0}^{\infty} \tilde{I}_m(k, j - 1, \kappa_j - 0, \lambda) \right), \end{aligned} \tag{5.14}$$

$$\begin{aligned} \beta_j(k, \lambda) = e^{i\theta_j} & \left( \frac{a_j}{\eta} \cosh(\tau_j \eta) \sum_{m=0}^{\infty} J_m(k, j - 1, \kappa_j - 0, \lambda) \right. \\ & \left. + b_j \cosh(\tau_j \eta) \sum_{m=0}^{\infty} \tilde{J}_m(k, j - 1, \kappa_j - 0, \lambda) \right), \end{aligned} \tag{5.15}$$

$$\begin{aligned} \gamma_j(k, \lambda) = e^{i\theta_j} & \left( c_j \cosh(\tau_j \eta) \sum_{m=0}^{\infty} I_m(k, j - 1, \kappa_j - 0, \lambda) \right. \\ & \left. + d_j \eta \sinh(\tau_j \eta) \sum_{m=0}^{\infty} \tilde{I}_m(k, j - 1, \kappa_j - 0, \lambda) \right), \end{aligned} \tag{5.16}$$

$$\begin{aligned} \delta_j(k, \lambda) = e^{i\theta_j} & \left( \frac{c_j}{\eta} \cosh(\tau_j \eta) \sum_{m=0}^{\infty} J_m(k, j - 1, \kappa_j - 0, \lambda) \right. \\ & \left. + d_j \cosh(\tau_j \eta) \sum_{m=0}^{\infty} \tilde{J}_m(k, j - 1, \kappa_j - 0, \lambda) \right). \end{aligned} \tag{5.17}$$

**Lemma 5.2.** *For  $k = 1, 2$ , and  $j = 2, 3, \dots, n + 1$ , we have*

$$\sum_{m=0}^{\infty} I_m(k, j - 1, \kappa_j - 0, \lambda) = 1 + \mathcal{O}\left((\sqrt{-\lambda})^{-1}\right), \tag{5.18}$$

$$\sum_{m=0}^{\infty} \tilde{I}_m(k, j - 1, \kappa_j - 0, \lambda) = 1 + \mathcal{O}\left((\sqrt{-\lambda})^{-1}\right), \tag{5.19}$$

$$\sum_{m=0}^{\infty} J_m(k, j - 1, \kappa_j - 0, \lambda) = 1 + \mathcal{O}\left((\sqrt{-\lambda})^{-1}\right), \tag{5.20}$$

$$\sum_{m=0}^{\infty} \tilde{J}_m(k, j - 1, \kappa_j - 0, \lambda) = 1 + \mathcal{O}\left((\sqrt{-\lambda})^{-1}\right) \tag{5.21}$$

as  $\lambda \rightarrow -\infty$ .

*Proof.* We pick  $k = 1, 2, j = 2, 3, \dots, n + 1$ , and  $\lambda < -\|q\|_{L^\infty(\mathbb{R})}$ , arbitrarily. By (5.5), we notice

$$I_0(k, j - 1, x, \lambda) = 1, \quad J_0(k, j - 1, x, \lambda) = \tanh(\eta(x - \kappa_{j-1})). \tag{5.22}$$

We choose  $m \in \mathbb{N}$ , arbitrarily. Substituting (5.10) for (5.6), we obtain the recurrence relations

$$\begin{aligned}
 & I_m(k, j - 1, x, \lambda) \\
 &= \frac{1}{\eta} \int_{\kappa_{j-1}}^x \sinh(\eta(x - \xi)) \tilde{q}(\xi) \frac{\cosh(\eta(\xi - \kappa_{j-1}))}{\cosh(\eta(x - \kappa_{j-1}))} I_{m-1}(k, j - 1, \xi, \lambda) d\xi, \quad (5.23)
 \end{aligned}$$

$$\begin{aligned}
 & J_m(k, j - 1, x, \lambda) \\
 &= \frac{1}{\eta} \int_{\kappa_{j-1}}^x \sinh(\eta(x - \xi)) \tilde{q}(\xi) \frac{\cosh(\eta(\xi - \kappa_{j-1}))}{\cosh(\eta(x - \kappa_{j-1}))} J_{m-1}(k, j - 1, \xi, \lambda) d\xi. \quad (5.24)
 \end{aligned}$$

On the other hand, it follows by differentiating (5.5) that

$$\tilde{I}_0(k, j - 1, x, \lambda) = 1, \quad \tilde{J}_0(k, j - 1, x, \lambda) = 1. \quad (5.25)$$

Substituting (5.11) for (5.9), we derive

$$\begin{aligned}
 & \tilde{I}_m(k, j - 1, x, \lambda) \\
 &= \frac{1}{\eta} \int_{\kappa_{j-1}}^x \cosh(\eta(x - \xi)) \tilde{q}(\xi) \frac{\cosh(\eta(\xi - \kappa_{j-1}))}{\sinh(\eta(x - \kappa_{j-1}))} I_{m-1}(k, j - 1, \xi, \lambda) d\xi, \quad (5.26)
 \end{aligned}$$

$$\begin{aligned}
 & \tilde{J}_m(k, j - 1, x, \lambda) \\
 &= \frac{1}{\eta} \int_{\kappa_{j-1}}^x \cosh(\eta(x - \xi)) \tilde{q}(\xi) \frac{\sinh(\eta(\xi - \kappa_{j-1}))}{\cosh(\eta(x - \kappa_{j-1}))} J_{m-1}(k, j - 1, \xi, \lambda) d\xi. \quad (5.27)
 \end{aligned}$$

The integral kernel in (5.23) is estimated as

$$\begin{aligned}
 0 &\leq \frac{\sinh(\eta(x - \xi)) \cosh(\eta(\xi - \kappa_{j-1}))}{\cosh(\eta(x - \kappa_{j-1}))} \tilde{q}(\xi) \\
 &= \left( \frac{1}{2} \tanh(\eta(x - \kappa_{j-1})) + \frac{\sinh(x + \kappa_{j-1} - 2\xi)}{2 \cosh(\eta(x - \kappa_{j-1}))} \right) \tilde{q}(\xi) \\
 &\leq \left( \tanh(\eta(x - \kappa_{j-1})) \right) \tilde{q}(\xi) \\
 &\leq \tilde{q}(\xi) \quad (5.28)
 \end{aligned}$$

for  $\xi \in (\kappa_{j-1}, x)$ , because it follows by (5.4) that

$$\tilde{q}(x) \geq 0, \quad \text{a.e. } x \in \mathbb{R}. \quad (5.29)$$

Thereby, we get

$$I_m(k, j - 1, \kappa_j - 0, \lambda) \geq 0 \quad (5.30)$$

by induction. Furthermore, we show

$$I_m(k, j - 1, x, \lambda) \leq \frac{1}{m!} \left( \frac{\|\tilde{q}\|_{L^\infty(\mathbb{R})}(x - \kappa_{j-1})}{\eta} \right)^m \quad (5.31)$$

by induction. By (5.22), it follows that (5.31) holds when  $m = 1$ . We pick  $l \geq 2$ , arbitrarily. Suppose that (5.31) holds for  $m = l - 1$ . We have

$$\begin{aligned} I_l(k, j - 1, x, \lambda) &\leq \frac{1}{\eta(l - 1)!} \int_{\kappa_{j-1}}^x \tilde{q}(\xi) \left( \frac{\|\tilde{q}\|_{L^\infty(\mathbb{R})}(\xi - \kappa_{j-1})}{\eta} \right)^{l-1} d\xi \\ &\leq \frac{1}{(l - 1)!} \left( \frac{\|\tilde{q}\|_{L^\infty(\mathbb{R})}}{\eta} \right)^l \int_{\kappa_{j-1}}^x (\xi - \kappa_{j-1})^{l-1} d\xi \\ &= \frac{1}{l!} \left( \frac{\|\tilde{q}\|_{L^\infty(\mathbb{R})}(x - \kappa_{j-1})}{\eta} \right)^l. \end{aligned}$$

Therefore we have (5.31) for all  $m \in \mathbb{N}$ . Now we prove (5.18). By (5.22), (5.30), and (5.31), we have

$$\begin{aligned} 0 &\leq \sum_{m=0}^\infty I_m(k, j - 1, \kappa_j - 0, \lambda) - 1 \\ &\leq \sum_{m=1}^\infty \frac{1}{m!} \left( \frac{\|\tilde{q}\|_{L^\infty(\mathbb{R})}\tau_j}{\eta} \right)^m \\ &\leq \frac{\|\tilde{q}\|_{L^\infty(\mathbb{R})}}{\eta} \exp\left( \frac{\|\tilde{q}\|_{L^\infty(\mathbb{R})}}{\eta} \right), \end{aligned}$$

and thus (5.18). Similarly, we get (5.19)–(5.21). □

We recall (2.13)–(2.16). By Lemma 5.2, we have the following lemma.

**Lemma 5.3.** *We have*

$$\begin{aligned} &\frac{y_1(\kappa_{n+1} + 0, \lambda)}{\prod_{j=2}^{n+1} e^{i\theta_j} \cosh \tau_j \eta} \\ &= \begin{cases} a_{n+1}\mu(n)\eta^{n-k(n)} + \mathcal{O}(\eta^{n-k(n)-1}) & \text{if } b_{n+1} = 0, \\ b_{n+1}\mu(n)\eta^{n-k(n)} + \mathcal{O}(\eta^{n-k(n)-1}) & \text{if } b_{n+1} \neq 0, \end{cases} \end{aligned} \tag{5.32}$$

$$\begin{aligned} &\frac{y'_2(\kappa_{n+1} + 0, \lambda)}{\prod_{j=2}^{n+1} e^{i\theta_j} \cosh \tau_j \eta} \\ &= \begin{cases} d_{n+1}\mu(n)\eta^{n-k(n)} + \mathcal{O}(\eta^{n-k(n)-1}) & \text{if } b_{n+1} = 0, \\ d_{n+1}\mu(n)\eta^{n-k(n)-1} \\ \quad + \{c_{n+1}\mu(n) + d_{n+1}\mathcal{O}(1)\}\eta^{n-k(n)-2} \\ \quad + \mathcal{O}(\eta^{n-k(n)-3}) & \text{if } b_{n+1} \neq 0 \end{cases} \end{aligned} \tag{5.33}$$

as  $\lambda \rightarrow -\infty$ .

Thanks to Lemma 5.3, we have Proposition 5.1 (f) and (g).

Let  $(\tilde{r}, \tilde{\omega})$  be the polar coordinates of  $(\tilde{y}, \tilde{y}')$ , where  $\tilde{y}(x, \lambda)$  is a nontrivial solution to (5.1) and (5.2). Then  $\tilde{\omega}(x, \lambda)$  satisfies the equations

$$\frac{d}{dx} \tilde{\omega}(x, \lambda) = \cos^2 \tilde{\omega}(x, \lambda) + (\lambda + q(x)) \sin^2 \tilde{\omega}(x, \lambda), \quad x \in \mathbb{R} \setminus \Gamma \tag{5.34}$$

as well as the boundary conditions

$$\begin{aligned} & \sin \tilde{\omega}(x+0, \lambda)(c_j \sin \tilde{\omega}(x-0, \lambda) + d_j \cos \tilde{\omega}(x-0, \lambda)) \\ &= \cos \tilde{\omega}(x+0, \lambda)(a_j \sin \tilde{\omega}(x-0, \lambda) + b_j \cos \tilde{\omega}(x-0, \lambda)), \end{aligned} \tag{5.35}$$

$$\operatorname{sgn}(\sin \tilde{\omega}(x+0, \lambda)) = \operatorname{sgn}(a_j \sin \tilde{\omega}(x-0, \lambda) + b_j \cos \tilde{\omega}(x-0, \lambda)), \tag{5.36}$$

$$\operatorname{sgn}(\cos \tilde{\omega}(x+0, \lambda)) = \operatorname{sgn}(c_j \sin \tilde{\omega}(x-0, \lambda) + d_j \cos \tilde{\omega}(x-0, \lambda)) \tag{5.37}$$

for all  $x \in \Gamma_j$  and  $j = 1, 2, \dots, n$ . We choose the branch of  $\tilde{\omega}(x+0, \lambda)$  as

$$-\pi \leq \tilde{\omega}(x+0, \lambda) - \tilde{\omega}(x-0, \lambda) < \pi \quad \text{for } x \in \Gamma. \tag{5.38}$$

Thanks to this selection,  $\tilde{\omega}(x+0, \lambda)$  is uniquely determined. Let  $\tilde{\omega} = \tilde{\omega}(x, \lambda, \tilde{\omega}_0)$  be the solution of (5.34)–(5.38) subject to the initial condition

$$\tilde{\omega}(+0, \lambda) = \tilde{\omega}_0. \tag{5.39}$$

We define the rotation number of (5.34)–(5.39) as

$$\tilde{\rho}(\lambda) = \lim_{n \rightarrow \infty} \frac{\tilde{\omega}(2n\pi + 0, \lambda, \tilde{\omega}_0) - \tilde{\omega}_0}{2n\pi}. \tag{5.40}$$

In a similar way to Section 3, we have the following theorem, which is an extension of (1.14).

**Theorem 5.4.** *For  $j \in \mathbb{N}$ , let  $\tilde{B}_j = [\tilde{\alpha}_j, \tilde{\beta}_j]$  be the  $j$ th band of the spectrum of  $\tilde{H}$ . Put*

$$l = \#\{1 \leq j \leq n \mid (b_j < 0) \text{ or } (b_j = 0, d_j < 0)\}.$$

Then we have

$$\begin{aligned} \tilde{\alpha}_j &= \max \left\{ \lambda \in \mathbb{R} \mid \tilde{\rho}(\lambda) = \frac{m-1}{2} - \frac{l}{2} \right\}, \\ \tilde{\beta}_j &= \min \left\{ \lambda \in \mathbb{R} \mid \tilde{\rho}(\lambda) = \frac{m}{2} - \frac{l}{2} \right\} \end{aligned}$$

for  $j \in \mathbb{N}$ .

### Acknowledgements

The author thanks the referees for useful comments which improved the manuscript. He also thanks Professor Kazushi Yoshitomi for helpful advices.

### References

- [1] S. Albeverio, F. Gesztesy, R. Høegh-Krohn, and H. Holden, *Solvable models in quantum mechanics, 2nd ed., With an appendix by Pavel Exner*, AMS Chelsea publishing, Rhode Island, 2005.
- [2] P. R. Churnoff and R. J. Hughes, *A new class of point interactions in one dimension*, J. Funct. Anal. **11** (1993), 97–117.

- [3] R. Coddington and N. Levinson, *Theory of ordinary differential equations*, Keirger, Florida, 1955.
- [4] S. Gan and M. Zhang, *Resonance pockets of Hill's equations with two-step potentials*, SIAM J. Math. Anal. **32** (2000), no. 3, 651–664.
- [5] F. Gesztesy, W. Holden, and W. Kirsch, *On energy gaps in a new type of analytically solvable model in quantum mechanics*, J. Math. Anal. **134** (1988), 9–29.
- [6] F. Gesztesy and W. Kirsch, *One-dimensional Schrödinger operators with interactions singular on a discrete set*, J. Reine. Angew. Math. **362** (1985), 28–50.
- [7] J. K. Hale, *Ordinary differential equations*, 2nd ed., Wiley, New York, 1969.
- [8] R. J. Hughes, *Generalized Kronig–Penney Hamiltonians*, J. Math. Anal. Appl. **222** (1998), no. 1, 151–166.
- [9] R. Johnson and J. Moser, *The rotation number for almost periodic potentials*, Comm. Math. Phys. **84** (1982), 403–438; Erratum, Comm. Math. Phys. **90** (1983), 317–318.
- [10] T. Kato, *Perturbation theory for linear operators*, Springer-Verlag, New York, 1966.
- [11] C. Kittel, *Introduction to solid state physics*, 5th ed., Wiley, New York, 1976.
- [12] R. Kronig and W. Penney, *Quantum mechanics in crystal lattices*, Proc. Royal. Soc. London **130** (1931), 499–513.
- [13] J. Moser, *Integrable Hamiltonian systems and spectral theory*, Lezioni Fermiane, Accademia Nazionale dei Lincei, Rome, 1983.
- [14] H. Niikuni, *Identification of the absent spectral gaps in a class of generalized Kronig–Penney Hamiltonians*, Tsukuba J. Math., to appear.
- [15] H. Niikuni, *Absent spectral gaps of the generalized Kronig–Penney Hamiltonians*, preprint.
- [16] M. Reed and B. Simon, *Methods of modern mathematical physics, IV. Analysis of operators*, Academic Press, New York, 1978.
- [17] P. Šeba, *The generalized point interaction in one dimension*, Czech J. Phys. B **36** (1986), 667–673.
- [18] K. Yoshitomi, *Spectral gaps of the one-dimensional Schrödinger operators with periodic point interactions*, Hokkaido Math. J. **35** no. 2 (2006), 365–378.

Hiroaki Niikuni  
Department of Mathematics and Information Sciences  
Tokyo Metropolitan University  
Minami-Ohsawa 1-1  
192-0397 Hachioji, Tokyo  
Japan  
e-mail: [dreamsphere@infoseek.jp](mailto:dreamsphere@infoseek.jp)

Communicated by Claude-Alain Pillet.

Submitted: December 18, 2006.

Accepted: February 23, 2007.